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Introduction

The main aim of the project was to describe a series of important numerical con-
cepts relevant to children’s learning in the primary school. The progression thus
suggested would be matched with assessment procedures and questions which
could be used by class teachers to diagnose children’s learning and their errors. The
aim is to help teachers match their teaching to the child’s knowledge. The intention is
to discover performance in mathematics and some signs of understanding may be
hidden by poor reading sKkills.

The four educators met and scrutinised the Number syllabus for each country,
together with descriptions of expectations of learning in Primary Number by young
children in five other countries. It was apparent that the curriculum for each of the
project countries was very full of content matter and that in the first four grades the
pupils were expected to learn the four operations and to apply them to larger and
larger numbers. There was a tacit assumption that the fundamental concepts would
be in place and the move from tens to hundreds and then thousands would be a
smooth transition. Taking just statements which referred to whole numbers and which
were common to all three curricula we have put together the table which occurs in
the Appendix. The curriculum of each country was stated in terms of the grade for
which it was intended. The table in the Appendix therefore keeps this format but the
tests and the progression discussed here are not necessarily tied to grades. The
table does not contain all the number work in the curriculum, but only the part deal-
ing with whole numbers.

The duration of the project allowed less than a year for testing and collecting data so
an attempt was made to split a grade’s curriculum into three parts in the belief that
the class being asked to do the questions would already have been taught the con-
tent matter they contained. In Malawi and Zambia two parts of the assessment were
given six months into the school year and the last which assessed the Number work
intended for the end of the school year was given to the grade above. It was there-
fore expected that the mathematics they contained would have been covered by the
teacher. In Ghana the three tests were spread throughout the school year.

Mathematics

In most countries the primary school curriculum includes the study of mathematics.
This study only investigated a small part of the mathematics considered suitable for
pupils in grades 1 to 4. No attempt was made to assess Measurement or Geometry.
Only ‘Whole Numbers’ were investigated and non-whole numbers such as Fractions
and Decimals were omitted. This does not mean that the other aspects are unimpor-
tant, simply that this project investigated a limited section of mathematics. For the
purpose of this study we deal with “familiarity with whole numbers and operations
upon them’.



The government curriculum usually lists the content matter to be taught and does
not emphasise the relative levels of difficulty. School mathematics involves facts,
skills, strategies and problem solving. Facts do not need interpretation but do need
memorising so that they can be produced when needed. The number bonds for addi-
tion of numbers less than ten are facts. Skills or procedural moves are taught and
rehearsed and the teacher expects the child to produce the required routine when
needed. For example children are taught a routine for doing addition questions when
set out in a particular format. They are expected to remember the routine and not
need further teaching. Strategies are not rehearsed and require the learner to make
decisions on what facts and skills to use in a situation [which might be familiar]. In
true problem solving the situation is likely to be unfamiliar and the learner must
extract the mathematics before deciding on a strategy for solution. Real life problems
do not come already labelled as requiring addition or multiplication. The project has
done little work on problem solving as these appear seldom in the stated primary
school work.

Primary school number work is important because most of subsequent mathematics
relies upon a fluency and confidence in the use of number. It is therefore extremely
important that time should be spent to consolidate each step and process in the
learning of number.

Representation

Most children are unable to read when they start full-time schooling. Their Number
work might start with the handling of objects, seeds, stones, bottle tops or manufac-
tured apparatus. These tactile experiences can be recorded by words, symbols or
pictures. Graphs and tables follow. Mathematical words have precise meanings and
some, especially counting words are taught before they can be read by the student.
It must be remembered that the child is a new learner and as such is reliant on
being given accurate and understandable information by the teacher. The assess-
ment procedures suggested here are often oral on the part of the teacher whilst the
child might be expected to furnish the answer by displaying an array of objects or by
pointing to a card. It is not expected that the child can read until at least grade four
and even then the teacher may read out the questions if they think this desirable.

Assessment Procedures

A teacher needs to know how much mathematics the children understand if she/he
is to plan the most effective way of proceeding. Therefore assessment is needed, not
only of content to obtain the correct answer but also of increasingly sophisticated
strategies. Children may be very restricted if their only Number strategies depend on
the naive counting methods they used when very young. In order to diagnose mis-
conceptions the teacher of the early grades needs to question the pupils orally using
items that reveal inaccuracies. The child’s reply must be recorded in some way.
Interviews for assessment are opportunities for the child to talk rather than for the
teacher to explain. The child needs time to set out his argument or to display his
answer.



The testing instruments are:-

1. Interview questions with a record sheet for the teacher to write the child’s answer.
Both correct, incorrect answers and various methods the children use can be
coded if the teacher wants a record of the whole class.

2. Test papers read out by the teacher and answers recorded on a printed sheet by
the child.

3. Written test papers for those children who can read. Although the teacher should
read out the questions if there is a problem in understanding.

4. Some children may be unfamiliar with a printed test paper. The teacher may need
to discuss with the class how the paper is to be completed.

5. It is important that the pupils understand the task. It might need translation into
another language or terms may need explanation. The translation / explanation
must not provide prompts and should keep close to the original meaning

Progression

The progression of stages was agreed after the testing had taken place. It is includ-
ed in the Appendix. Some topics which had appeared in tests for a certain grade had
been far too difficult for the children in the three samples and so were moved to a
later stage. The teacher should not expect Stage 2 to contain all the number con-
cepts of the Grade 2 syllabus etc. The tests can be spaced throughout the school
year to reflect what has been taught.

The assessment items for use in the first four grades are listed in four groups but
they should not be regarded as only attached to each of the grades. No age level is
given as in one grade there may be pupils of many ages. Grade 1 is regarded as the
phase in which they start full time schooling.

Administration of the Tests

The children should be told that the tests/tasks are being given so that the teacher
can obtain information to help them learn mathematics. The questions are not to
catch them out and it should be clear what is being asked. The interviews particular-
ly should be carried out in a relaxed, non-threatening environment. The pupils will
need space in which they can write comfortably.

If the language used in the questions is unfamiliar to the pupils, the teacher may use
expressions more frequently used in their class room BUT the meaning should not
be changed. If the questions need to be translated into a local language, care must
be taken that the task still tests the same thing, for example ‘difference’ should be
translated into a similar expression and not into ‘take away’ which is another aspect
of subtraction.



It is important to keep a record of the child’s responses and where gaps in knowl-
edge appear. Total marks for a paper are not as useful as the knowledge that ‘place
value’ has not been understood. The class list will then show how many pupils seem
to lack this understanding. There are questions which have two or three correct
answers. The pupils might consider mathematics questions require just one
response, so they should be encouraged to give as much information as they can.
Diagrams may need to be explained as well as the layout of the questions.

Starting Number

In a first grade class there will be children who have been to a pre-school, some who
have learned something about Number from siblings or parents and others who have
had no mathematical experience. Counting is likely to be the first Number experience
they have. The curriculum in each of the three project countries starts with counting,
using English words for the numbers.

Counting

The crucial features of counting are:

a. The names [one, two, three...] belong in a particular order

b. To count a collection a number name is attached to each object. There is a name
for each object and every name has an object.

c. The number of objects in a set is the last name in the counting sequence just
used.

Initially the child may need to touch each object as the name is said, later counting
might be done silently or by touching fingers.

How Many

a. The question ‘How many?’ can be answered by counting a set or if a small num-
ber is involved the total might be recognised immediately.

b. ‘Are there as many as?’ requires the comparison of two numbers or two sets of
objects. It can be answered by matching the objects in the two sets one to one, by
counting or by using number recognition. Equality occurs when the matching one
to one leaves no object unmatched. The sameness is not influenced by the posi-
tion of the objects.

c. ‘How many more’ seemed to be very difficult for the Zambian children. The ques-
tion can be answered by matching two sets and by counting the difference or
increasing the lesser until equality is achieved.

Recording

In grade 1 it is unlikely that the child can read, so the teaching of Number has to rely
on objects, diagrams, said words and symbols. The symbols for numbers up to ten
can be written to record how many. Each symbol represents a unique number.



Assessment Instruments
Stage One

Counting. The teacher interviews 1-1 and records as much information as she needs
but at least according to the report sheet provided. The concepts being tested are:
more than, less than, matching, number names, symbols, counting and order.

Initially there are objects the child can touch, he may say the number names out
loud or to himself. He may keep a record on his fingers. In Stage1 part A the teacher
can record what methods the child uses for a correct response as well as the ways
in which error occurs. There are no numbers over ten. In Part B number names for
collections of more than ten are used BUT they are not written in symbols as this
would involve the concept of place value. Diagrams are provided for the sets, so
there are no objects to be touched and moved

Besides making the numbers involved in the questions larger we are also looking for
the child to be using increasingly sophisticated strategies. In Part B question 5, the
sum of 5 and 3 is required and the question is posed with just the symbols. If the
child cannot answer, the strips of stamps may be turned over to show the stamps
and these can then be counted. The counting can also be more advanced .The child
may start from 1 and count everything or he may assume the size of one set and
count on, saying 6,7,8 to find the total. Even more advanced is the knowledge of the
addition bonds when counting is not needed. Hence different codes are assigned for
different methods of obtaining a correct answer. In teaching the intention is to lay a
good foundation of knowledge and to encourage the child to move towards the most
efficient way of working.

By the end of Part B we have expressions written entirely in symbols. It is important

that the child can interpret these and say what they mean. The translation of number
sentences into words and vice versa is important, if the child is not taught to do this

he is left manipulating meaningless symbols.

The third part of Stage1 is a test paper composed of diagrams, the teacher
describes orally what needs to be done. This can be carried out with the whole class
as long as there are enough papers. Each question should be read and the child
allowed enough time to complete what he can do before the next question is read
out. To record the codes which are provided a class list is needed. The codes are
assigned to correct answers and to certain incorrect ones. When addition is carried
out by the child rather than the subtraction required and vice versa, a code is
assigned. Children who always do addition no matter what the operation may not
know of another operation. If the code is occurring often in the class there may be a
case for re-teaching.

Addition Sums

Stage 1 ends with addition and subtraction to ten, with the questions written in a par-
ticular style. The teacher should note those children who are responding to the style
but cannot translate the number sentence into words. They will be unable to use the
rule if they do not know what it means.



Larger Numbers

The first experiences in school mathematics are usually concerned with finding the
number of objects in a set. The numbers get larger as the child progresses through
school and the child needs increasingly sophisticated methods of dealing with them.
We have used words for numbers over ten but they have not been written. The next
big step in Number is the writing of numbers using only ten digits but giving signifi-
cance to how they are placed. This is a big step and is not easy. Children need
experience in splitting collections into tens and then recording the total in terms of
tens and ones [units]. The work might start with objects and then diagrams which
show strips or bundles of ten. The aim is to deal with a bundle of ten in its own right
so counting the number in a bundle every time is not sufficient. Earlier results
showed children had great difficulty in interpreting diagrams. How to interpret dia-
grams needs teaching. Knowing addition bonds to make ten enables the child to
move on from counting to quicker ways of working.

Stage Two

The assessment suggested for the first steps in Place Value is again done by 1-1
interviews, firstly with objects and then with diagrams, always moving towards the
child being able to record an amount with two digits in the correct order. The teacher
should be alert to reversals when the ten digit and the ones digit are put in the
wrong order. e.g. 47 instead of 74. The second part of the assessment is a paper in
which the questions are read out and the child responds by writing. Addition bonds
to make ten are tested. The child is expected to search for more than one answer.

Stage 2 Part B tests the translation of diagrams showing bundles of ten into symbols
put in a familiar format. This skill of translation needs teaching. Addition and subtrac-
tion are done where there is no need to regroup or decompose bundles of ten. The
expression used to denote subtraction is ‘take away’ and the amount to be taken is in
the form of an instruction and not shown in the diagram of bundles. The second part
of the assessment is the completion of addition questions set out in a familiar format.
None of the columns add up to ten or more.

Part C extends the theme of addition and subtraction but tests the ‘difference’ mean-
ing of subtraction. The test is read out by the teacher but initially diagrams are
provided so that the difference can be found from matching bundles and singles. The
words ‘take away’ are not appropriate in the ‘difference’ situation as nothing is
removed. The addition questions are in the usual format and include two from part B.
Zero also appears. If the success rate drops when zero occurs then there are chil-
dren who do not realise the particular properties of zero. When added to any number
it does not increase that number. Any number subtracted from itself results in zero.
Addition and subtraction are inverse operations and a number sentence involving
one operation can be rewritten as one using the other.



Stage Three

The Number work contained in Stage 3 part A involves multiplication which although
it appears in the syllabus may not have been taught by the end of grade 2. The test
provided therefore should not be given to pupils until they have been introduced to
the relevant aspects of this new operation. Two meanings of multiplication are used.
Repeated addition is one of them but the other is a number of equal sized groups
the total of which can be written as a multiplication. This latter meaning links more
closely to division, which is usually introduced as a question of how many groups of
a certain size can be obtained from a certain amount. The child is also asked to
translate a situation into a number expression.

Stage 3 in Number assumes that the routines for addition and subtraction of two digit
numbers where no decomposition or regrouping is required are used successfully by
the pupil. The move in complexity is to the same routines but with a need to deal
with the tens by breaking them down. There is also the introduction of hundreds. The
assessment in Stage 3 Part B provides the means of checking that ideas met earlier
are part of the child’s repertoire of skills. The teacher is still asked to read out the
questions although many are printed on the paper given to the pupil. Questions 1 to
5 deal with earlier work. If a child gets these incorrect then trying to introduce more
complicated Number work is doomed to failure.

Some of the subtraction questions require decomposition i.e. the number on the top
line is broken down (or decomposed) so that it has the same value but is in a more
convenient form. Do not use the word ‘borrow’ since this is incorrect, the number on
the top is made up of tens and ones which belong together. There is no borrowing
and no paying back. The numbers are simply reformed in a more convenient form.
The codes provided for the marking include one for the common error of always sub-
tracting the smaller digit, no matter if it is in the number to be subtracted or not e.g
those who write

32
-17
25

Children who do this do not understand that digits in the tens and one places and on
the same line, belong together. Nor do they have the routine for subtraction at their
fingertips except in the case of numbers less than ten. Question 7 tests two impor-
tant number properties: a] A number subtracted from itself results in zero and b]
Addition can be carried out in any order so the numbers given can be rearranged to
make tens. Hundreds need to be introduced with as much care as tens. The relation-
ship between adjacent columns in a written number is very important. The pictures
show a square of 100 units. The child should be able to accept the hundred as an
entity and not need to count them all each time the picture occurs. The teacher is
asked to read out numbers which the child should record with the digits in the cor-
rect places not just tagged onto each other.



Part C in Stage 3 extends the range of numbers to thousands but you may find this
is too early and that the pupil is not yet working efficiently with HTU. There are two
questions on the test paper which need the child to know the meaning of thousands
though not to use them. The teacher may read the questions one at a time although
they are all printed. Children who need to write down question 1 in the familiar for-
mat need more work on tens and in reading number sentences [translating them into
words]. Each of the parts only needs a change of digit in one column and an ability
to count in tens. The three digit addition requires no rearrangement and simply
employs single digit addition and subtraction. Two questions return to the meaning of
multiplication met earlier. If they are badly done then the meaning of the symbol has
not been retained. There is a question on ordering three digit numbers. Question 9
has two correct answers.

The Part D assessment is closely tied to the familiar routines and format. The ques-
tions involve larger numbers and it is important to put the digits in the correct
columns, however the calculations require only one decomposition and mostly need
only bonds up to ten applied a number of times. The errors of applying the wrong
operation and of subtracting the smaller digit are coded. Two multiplication questions
can be done by dealing with the tens and ones separately The last question sets a
situation and the pupil is asked which operation would need to be carried out for the
solution. The child needs to know the meaning of ‘difference’. In the coding scheme
the subtraction statement written correctly and, as if order did not matter, are both
coded. Many children think subtraction can be done in any order. Of the four opera-
tions, addition and multiplication of two numbers can be done in either order but in
division and subtraction the order matters.

Stage Four

By now the child has been introduced to numbers up to thousands, and the opera-
tions of addition and subtraction with numbers that large. In most schools the work
will have been mainly computations when the question has been presented in a
familiar format. The assessment up to now has avoided complexities requiring
decomposition in more than one column. Also we have not tested the pupil’s under-
standing of the relationship between columns. For example can the child write the
number 25 hundred in the correct columns or will he put 25 in the H column? In
Stage 4 Part A we assess the child’s knowledge of the number system and place
value. If the class finds these questions very difficult the teacher needs to check that
these aspects have been taught and perhaps postpone testing until a later stage.
Additions and subtractions are varied, some require exchanging. Check that the child
is not simply able to deal with two digits in a question and note those who are still
subtracting the smaller digit from the larger inappropriately. The only reference to
multiplication and division is in the context of sharing a two digit number by a num-
ber less than ten.
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In Part B we return to multiplication and division written in a familiar format, no
remainders are involved. The whole number system used has been dependent on
ten and in this test increasing by a factor of ten or by adding ten are tested. It is very
easy for a teacher to describe multiplying by ten as ‘adding zero’. This is incorrect.
The child knows that adding zero to any number does not change it and here is a
teacher saying that making it ten times larger does not change it. Multiplication and
division are inverses and the child can use knowledge of one to solve questions
using the other.

By the end of the tests used in Stage 4 the children in the three countries who tried
the tests were finding the questions very difficult. They were in grades four and five.
There were still many topics in the syllabus which did not appear in the assess-
ments. The questions asked have been linked to the type of teaching the pupils are
likely to receive and many of the questions will be familiar. What has been lacking is
a feeling for number which allows a confidence in using numbers without being
reliant on memory of routines which may not be understood. The following is a list of
topics with some examples which appeared to fit naturally within Stage 4 and within
the curriculum but which were too difficult for the trial samples.

Important Harder Topics

These topics were difficult for each sample of the 4th grade and even for those of
Grade 5 who were tested.

1. Putting digits in the correct columns when there is a gap or other complexity e.g.
Write 75 tens and 3

Th H T U

2. Multiplication and division by a 2 digit number e.g.
324 271540
x 52

3. More than one operation e.g.

27+3=[1x3

4. Flexibility with tens e.g.
10 sets of six is the same as six sets of 10 i.e. 60

5. Word problems.

11



The Use of a Diagnostic Test

A diagnostic test is used to diagnose children’s understanding, errors they make and
strategies they employ to find an answer. The only reason for doing this work is in
order that the teacher then acts on this information. Errors children make reveal their
level of understanding and give a clue for where the teacher should start working
with that child. Leaving a hole in a pupil’s knowledge and understanding just leads to
further errors later. If most of the pupils in the class omit a question or get it wrong
then the topic needs to be taught again but not necessarily in the same way. If the
pupils did not understand the first time perhaps it was because the pre requisite ear-
lier knowledge was not in place so he/she had no base on which to build. The
teacher needs to check what the pupils do know and build on that.

12



Appendix 1 - Grade One
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Appendix 1 - Grade One continued
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Appendix 1 - Grade Two
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Appendix 1 - Grade Two continued
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Appendix 1 - Grade Two continued
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Appendix 1 - Grade Three
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Appendix 1 - Grade Three continued
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Appendix 1 - Grade Three continued
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GRADE 4 CONTENTS OF SYLLABUS

The Grade 4 syllabus from Ghana, Malawi and Zambia tend to take the previously
introduced topics and just introduce bigger numbers. A great many Number
Concepts have been introduced in these four years of school.

(Remaining from GR.3 are Factors, Linking multiplication and division and more
number sense. These have not been tested in GR.3)

Emphasis on same operations but bigger numbers (even 10 or 100 thousand).
Numbers to be put in correct columns. Reading and writing large numbers. Value of
the place in a written number.

Multiplication by 10
+, X, div., - with bigger numbers.
? Relationship among columns

Long division stated but we do not seem to have division by 10 (KH puts on restric-
tion of x by no numbers beyond 2 digits, division by single digit with no remainder
when in algorithm form).
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Appendix 2 - Progression

Stage One Progression

Numbers less than 10

Objects. Matching two sets. As many as.

Counting objects. Using words (English) in correct order. Matching object to word
(touching).

How many? Last name in count is answer to ‘how many’. Position relative to other
numbers.

Number symbols 1-9 matched with a set of objects.
Writing symbols.
Expression for addition, solved by counting.

Subtraction as removal, solved by counting.

Numbers more than 10 as well

Counting to 20 or 30 (not recording) orally. Matching names to objects.
How many more has one set than another (oral).

How many altogether from 2 sets (oral).

More than. Using numerals and also objects (not less than ten).
Symbolic. Expression for addition. Knowing number bonds.

Symbolic. Expression for subtraction. Knowing bonds.

Addition and subtraction in formal format nos < 10.

Ordinal numbers less than ten.




Appendix 2 - Progression
Stage Two Progression

Importance of Ten

Object in set. What is ten more than this number?

Addition Bonds of Ten

Regarding ten objects as an entity (bundles etc) [Diagrams and materials]

Counting in tens — up to 90

Writing numbers over 10 (Place Value)
Matching symbols (>10) to set of objects

Ten more than in symbols

Addition of two digit numbers using diagrams, materials — move to symbols. (no
regrouping in symbolic form)

Addition 2 digits algorithmic format (no regrouping)

Subtraction as difference

Subtraction 2 digit nos., algorithmic format (no decomposition)

Addition and subtraction are inverses of each other

Subtraction as “how many more do | need?”

23



Appendix 2 - Progression

Stage Three Progression

How many groups in an array, using verb ‘to share’.
Multiplication as an array.
Writing a multiplication expression from a picture (numbers less than ten).

Multiplication from repeated addition.

Importance of zero and its properties (O+n=n, n—-n=0, n—0=n).

Addition of string of single digit nos. Order does not matter.

Addition / subtraction algorithm 2 digit nos. with re-grouping and decomposition.

Introduction of Hundred. Writing H T U numbers from words read out and from
diagrams.

Ordering H T U numbers.
Algorithmic addition 3 digit nos. — no regrouping

Algorithmic subtraction 3 digit nos. — no regrouping.

Multiplication of 1 ten and n units by single digit no.

Writing expression from diagrams.

Writing thousand.
Putting Th H'T U in correct columns.

Addition and subtraction Th H T U with no re-grouping.

Multiplication 2 digits by single digit (symbolic).

Division 2 digit by single digit (part of multiplication table).

Bold lines separating topics denote a large increase in difficulty.

24



Appendix 2 - Progression

Stage Four Progression

Relationship amongst columns in 3 digit nos.
Ordering numbers with 3 or 4 digits.
Addition and subtraction 3 digit numbers with regrouping (algorithmic format).

Addition and subtraction 4 digit numbers with regrouping (algorithmic format).

Division of 3 digit nos. by single digit. No remainder.

Multiply by 10. Two or 3 digit nos.

Division by 10. Two or 3 digit nos.

Different sorts of numbers:- Even / odds, factors.

Relationship between multiplication and division.

There are more Number concepts (still within whole numbers) which occur in the
Grade 4 syllabus and which were tested by the questions used in the research. BUT
they were all too difficult for the children in our Zambian and Ghanaian samples
(even at Grade 5).
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Stage 1 Task - Part A

Equipment: 5 bottle tops, 7 seeds, 9 beads. Cards printed 3, 8.

1. Teacher sets out 5 bottle tops and seven seeds preferably of the same size.

OO000O0

O0000O0O0

Teacher asks

a) Are there as many seeds as there are bottle tops?

b) Which set has most? Why?

c) Put more in the group that has less to make the two amounts the same.

[Note we have not used number, or how many].

2. Teacher shows a card with 3 written on it. Teacher asks

a) What number is this?
b) Show me that number of fingers

3. Shows 8

a) What number is this?
b) Give me that number of bottle tops

4. Teacher puts five beads on the table.

a) How many beads are there?
b) Can you write that number for me?
c) Teacher puts 9 beads down. How many beads are there?

5. Teacher puts 7 beads down.
a) How many beads are there?
b) (If correct) What number comes just before 77
c) What comes just after 77?

26



Stage 1 Task - Part B

Equipment: Cards, stamps.

are.

2. Teacher shows
many in this set

o)
o)
o)

3. Teacher shows

1. Teacher sets out 23 bottle tops in front of child and asks him to tell her how many there

two cards each of which has less than ten objects. She asks a. how
? b. how many in this? c. how many more in this one than that one?

0 o°
00 0o

two cards, each shows a set of objects (over 10). “One set has more

than the other. How many more has the larger set?”

o go
50 0"
Lo

How many are there altogether?

5. Teacher shows

two strips of ‘stamps’,

a) places them end to end and quickly turns them over so that the child sees

w

5

How many

intention is
the child].

a)5+ 3,
b)6 + 4,

stamps do | have?

(If child unable to respond, Teacher says ‘Shall | turn over the strips so that you
can see the stamps?’. This enables the child to count squares).

b) Teacher says ‘write a number sentence to show what you have done’. [The

to record in symbols, the teacher may use any expressions familiar to

6. What is the answer to these additions? (Needs cards).

c)3+2
d)7 +1

27



Stage 1 Task - Part C

Teacher reads out questions.

Children have test paper.
Familiar words may be used but not prompts.

1a. Put a cross on the third person in the line (from the door).

1b. Draw a ring round the sixth person from the door.

2. John has 8 shells and Mary has 3 shells.
How many more shells does John have?

3. Roy has 7 cakes, a dog steals some, Roy has 2 cakes left.
How many did the dog steal?

4-8. Try these questions.

9. The circle is in fifth place from the line.

Draw in the circles that are in front of it.

28



Stage 1 Task - Part C

AWAWAWAW,
WAWAW, S\

4. 5+3= 7. 6 -4 =
>  B+4= 8 8- =4
0




Stage 2 Task - Part A Assessment ltem

Child still cannot read. Some interview, some paper, mainly teacher reads, child
records.

Equipment: Cards, buttons.

1. Interview. Teacher puts a bowl of buttons (at least 35) and asks the child to.

a) Count how many there are.
b) Teacher asks ‘What is the number ten more than that’.
c) What is the number ten less than the number of buttons.

2. Interview. (Material cards with ten objects, others with less than 10). Teacher
shows 5 cards, each has an array of ten objects. Teacher asks:

a) How many altogether on these cards?

b) Write down that number.

c) Now here is another three on this card. How many altogether now?
d) Write down that number.

3. Interview. Teacher uses same cards as in (2) and some more. Puts them on the
table.

a) Can you collect together cards to show 47?

b) Write down that number.
c) Show me the cards that match this number (written) 74.

TEST PAPER

Teacher reads out questions

4. Write down the number shown in the picture.
5a. What number is shown here?
5b. How many more do you need to make 407

Write that number on the line underneath.

6. Draw lines between pairs of cards which make ten

30



Stage 2 Task - Part A

ba.

5b.

A SHUD SR 111
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Stage 2 Task - Part B

Teacher reads out questions

Use words children will understand, without altering meaning, BUT no prompts.

1. On your paper you can see pictures of two groups of sticks, some are in
bundles of ten and there are some extra sticks. The top and bottom sets are put
together.

Draw a ring around the loose sticks which make ten. Show the sum under the
TU heading and then add.

2. Repeat above.

3. From the bundles of ten and extra sticks take away a bundle of ten and two
sticks (repeat).

Show what you have done using the TU heading.

4. Repeat above.

5-9. Do the four questions shown.
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Stage 2 Task - Part B

] T U
1 Il
+
|
2 T U
AHHD HHHR HHHHHHS (111
1111
3 T U
HHHHHD S S ] -
4. T U
HHHHHD S SHHIS SHEH R 1T -
5. TU 6. TU 7. TU 8. TU
32 54 34 40
+15 +32 +65 +37
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Stage 2 Task - Part C

Teacher reads out questions:

Use words children will understand without altering meaning. BUT no prompts.

There are two numbers.
Each number is shown in bundles of ten and singles. Write the numbers under
the headings. Find the difference.

2. Fred has 8 chickens, Jo has 3. What is the difference in the number of
chickens?

3.-7. Do these.

8, 9. You can see an addition question and next to it the start of a subtraction.
Write the subtraction so that it tells you the same as the addition.

10, 11.  These have subtractions. We want the additions which tell you the same.
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Stage 2 Task - Part C

NI o e s
DAl
1.
AHHHHE (1]
]
2.
Fred Jo
8 3
Do these
3. TU 4 TU
34 40
+65 +37
5 TU 6 TU
56 34
+21 -21
7 TU
24
-14
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Stage 2 Task - Part C continued

8. 5+4=9 9— . =,
. 6+2=8 8= . S
10. 10-4 =6 6+... S
. 9-3=6 F o S,
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Stage 3 Task - Part A

Teacher reads out questions

1a.

1b.

How many sets of beads are there? Put your answer in the box.

How many beads altogether. Put the answer in the other box.

The picture shows rows of flowers.

Write a multiplication about the flowers.

3a.

3b.

2 add 2 add 2 add 2 add 2 can be written as a multiplication. Write that
multiplication.

5 times 3 can be written as an addition. We have started the adding for you.

4a.

4b.

May, Jim and Bob share these nuts equally between them. How many does
each get. Put the answer in the box.

May, Jim and Bob each has 5 oranges. How many oranges do they have
altogether? Put the answer in the box.

How many groups of four are there in the 20 stones? Write your answer in the
box.

6a.

6b.

John got 2 cakes on Monday, and on Tuesday, Wednesday, Thursday, Friday
and Saturday (show fingers for these days). How many cakes did he get
altogether? Write the answer in the box.

Write this as a multiplication underneath.
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Stage 3 Task - Part A

N A o

DAt o

CHCHEHOHO!
CHEHOHOH!
CHCHOHOHD!

2+2+2+2+2

(a)

5x3

(b)
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Stage 3 Task - Part A continued

5
fove @ @(
0@@@0@
ag %@

6
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Stage 3 Task - Part B

Teacher reads out questions

Holding up card three

Write down the number (figure) | am showing.

Draw that number of circles.

2a. Write the figures for these and do the addition.

2b. Repeat.

3. Draw in the box what you have if six sticks are removed.

4. Repeat.

5. | need 15 mangoes and | have 6 now. How many more do | need?

6. Do these subtraction questions.

7. Do the questions in number 7.

8. Draw a line between the pair which add up to ten. We have done one for you.
Do all the other pairs.

9. Write down the number shown by the picture in a). Then do the same for b).

10. Write down the numbers | will read out:

10a. Four hundred and twenty five (repeat).

10b. Five hundred and ten (repeat).

10c. Two hundred and six (repeat).
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Stage 3 Task - Part B

N AN
DAt oo
1.

2a. five and three

2b. six and four

s R I

o FHHHHE sHHe (1]

5. | need 15 mangoes and | have 6 now.
How many more do | need?

6.
a) T U b) TU C) TU
34 27 4 0
-2 8 - 14 - 17
7. Do these and get a result for each.
7a. 25-25+12 =

7b. 5+7+8+5+2+3=




Stage 3 Task - Part B continued

8. Draw a line between the pairs which add up to ten.
9. Write down the number shown by these pictures
9a
9b
|
ooo
10a. four hundred and twenty five
10b. 5 hundred and ten
10c. 2 hundred and 6
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Stage 3 Task - Part C (Questions may be read out)

N A o
DAt o
1. Write the answers.
1a. 1b.
18-10 = 39-29 =
1c.
54 + 10 =
2. Put a ring round the bigger number in each pair.
2a. 2b.
568, 654 507, 705
3. Do these:

% HTU 3% HTU 3% HTU 3 HTU
431 206 236 956
+325 +153 ~121 -234

Write a multiplication question for this picture and find the total.

0000 X
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Stage 3 Task - Part C continued

(Questions may be read out)

Write a multiplication and answer for this picture of bundles and ones.

> X

This amount is taken five times altogether.
Write a multiplication question and find the answer.

Oooao

7a.

7b.

Put these numbers in order, the smallest first.

375, 361, 254, 481

680, 608, 860, 806

Tick which of these is eight thousand and twenty eight:

800028 ...
828

8028

Tick the correct statements:

One thousand is ....

10 times bigger than 100 ...
100tens

tentens
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Stage 3 Task - Part D

1. Draw a line to connect a picture of sticks with the number of sticks.

L LR

|l TSI

2. Draw a line between a picture of sticks and the number nearest to how many
there are. There are two to do.
28
43
2a. 2b.
UL il | o0 [
HHHHE 1] 40 HHHH 1]
54
20
3. Put these numbers in the right columns and add.
3a. 5212 + 1234 + 1431 ThHTU

3b. 3042 + 213 + 5633 ThHTU




Stage 3 Task - Part D continued

4, Do this subtraction.

ThHTU
5465
— 4 444

5. Do these additions.

5a. HTU 5. TU
312 74
+222 +47

ScC. TU

6. Do these subtractions.

6a. HTU 6b. TU
356 74
—214 —-47

6C. TU




Stage 3 Task - Part D continued

7a.

Do these multiplications:

21 x5

7b.

30 x4

How many boxes of ten balls can | get from a sack of 85

balls?

9a.

9b.

9c.

Do these divisions.

95+5

60+ 6

I.
1N

36+

10.

Peter has 35 oranges and Yusif has 21 oranges.

Which of these number sentences says what the difference is between the
number of Peter's oranges and the number of Yusif's oranges.

Circle the expression.

35 + 21

21 + 35

21 x 35

35+ 21

35 - 21

21-35
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Stage 3 Task - Part D continued

The teacher reads out the questions

Draw a line to connect a picture of sticks with the number of sticks.

2. Draw a line between a picture of sticks and the number nearest to how many there are. There are
two to do.

3. There are three parts to this question. Put the numbers so that the figures come under the right
headings and add.

4. Question four has a subtraction. Do it.

5. Question five has three additions. Do them.

6. Do these three subtractions.

7. Do these multiplications.

8. How many boxes of ten balls can | get from a sack of 85 balls? Write the answer in the box.

9. Do these divisions.

10. Peter has 35 oranges and Yusif has 21 oranges.

Which of these number sentences says what is the difference between the number of Peter’s
oranges and the number of Yusif's oranges.

Circle the expression.
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Stage 4 Task - Part A

NI o
DAl o
1. Write these numbers:
1a One thousand, two hundred
1b Three hundred and forty one
1c Ten thousand, six hundred and forty
1d Fifty seven thousand, three hundred
1e Ninety seven
2. In these numbers, what is the value of the figure underlined.
2a 372l
2b 42731
3. Put these in order of size. Largest to come first.
731, 352, 7000, 3710
4. 12 olives are shared equally among 3 children. How many olives does
each get?
5. Ana puts six cakes in each box. She has 54 cakes. How many boxes
does she use?
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Stage 4 Task - Part A continued

Do these questions. They are subractions.

6a. ThHTU 6b. ThHTU
3241 5465
-1318 - 4444
Do these additions.
7a. ThHTU 7b. ThHTU
3145 5465
+1612 + 625
Do these.
8a. HTU 8b. HTU
235 573
+117 +147
8c. HTU 8d. HTU
215 4 32
-117 -275
Do this addition. Th H T U

2154 + 6261
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Stage 4 Task - Part B

NI e e s
DAl
1. Do these divisions.
1a. 6 | 360 1b. 8 | 656
2. Which of the following is true when you multiply a number by ten. Tick your choice.
2a. Youaddtentoit ............
2b. Youaddazerotoit ................
2c. You move each figure to the column on the left ...............
3. Do these
3a. 150 + 10
3b. 36 x10
3c. Ten more than 27
3d. One hundred less than 153
4.
41x5 How many tens in the answer?
5. The shop sells 350 loaves of bread each day. The baker has cooked 275 loaves.

How many more does he need? Which of the following would you do to solve
this problem?

Underline it.
350 + 275 275 — 350 350 — 275
275 x 350 350 + 275 275 + 350
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Stage 4 Task - Part B continued

6. Do these
6a. 24 6b. 74
x5 X 8
7. 3x2Xx =24

What number should go in the box to make this true?

8. One more than 7299 is
9a. 73100 ..o,
9b. 72991 i,
9c 7298
9d. 7300

Tick which you think is correct.

9. Rewrite each multiplication as a division.
9a. 5x4=20 .
20 =— ... =
9b. 9x8=72
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Stage 4 Task - Extra Numeracy

1. 1a. 562 1b. 324
X 6 X 52
2a. Write 25 hundred and ten in the right columns Th H
2Db. Write 3 thousand and forty one Th H
2c. Write 75 tens and three Th H
3. Fred has 56 dollars. He needs ten times that to pay the bills.
3a. How much is the bill?
3b How much more does he need?
4a. 63 | 126 4b. 63 | 1260
4c. 630 [ 1260

Dan has 264 mangoes to share equally among himself and his five
friends. How many mangoes does each get?
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Stage 4 Task - Extra Numeracy continued

6.

A bus holds 52 passengers. The school is taking 230 children to
the sea. How many buses do they need if all the children need to
go at the same time?

7a.

7b.

7c.

Write the number that goes into the box to make the statement true.

25+5=56%

79 + =3x4

X2=12+2

8a.

8b.

8c.

How many groups of 23 flowers can you get from a box of 237
flowers?

How many bunches of 25 flowers can you get from a box of 500
flowers?

How many groups of 17 can you get from 357

41 x 5 has how many tens?
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Stage 1 Coding Sheet - Part A

Question Codes
1 2 3 4 0
1a counts correct matches correct | says 2 numbers | incorrect omit
correct
1b counts correct matches correct | 2 numbers incorrect omit
correct
1c counts correct matches correct | adds on correct | incorrect omit
2a correct (3) answer 2 answer 4 other incorrect | omit
2b correct 2 4 other incorrect omit
3a correct (8) 7 9 other incorrect | omit
3b correct count matching incorrect omit
fingers
4a correct count correct without incorrect omit
count
4b correct (5) incorrect omit
reversal (¢)
4c correct count correct without incorrect omit
(9) counting
5a counts correct correct without incorrect omit
(7) counting
5b correct (6) 7 other incorrect | omit
5¢c correct (8) 6 other incorrect | omit
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Stage 1 Coding Sheet - Part B

. Codes
Question
1 2 3 4 5 6 9
1 counts says counts omit
correctly | correct incorrect
number
2a counts says counts omit
correctly | correct incorrect
number
2b counts says counts omit
correctly | correct incorrect
number
2c correctly | correctly | knows incorrect | incorrect omit
matches | counts on | number match count
needed
3 correct by | correct by | knows incorrect | incorrect omit
match counting | numbers | match count
4 counts on | counts all | knows no | incorrect [ incorrect omit
addition counton | counts all
5a no no knows 3 + | uses uses incorrect | omit
stamps stamps 5 stamps, stamps,
correct, correct, correct correct
counts on | counts 8 counton | counts all
fingers
5b 3+5=8 |3+50r 3,5 other omit
5+3=8 [5+3 no signs | incorrect
6a counts on | counts all | knows 5 + | incorrect omit
correct correct 3=8
6b counts on | counts all | knows 6 + | incorrect omit
correct correct 4=10
6¢c counts on | counts all | knows 3 + | incorrect omit
correct correct 2=5
6d counts on | counts all | knows 7 + | incorrect omit
correct correct 1=8
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Stage 1 Coding Sheet - Part C

: Codes
Question
1 2 3 4 9 0
some rd omit
1a mark on mark 3 cher

3rd from end incorrect

some omit

1b mark on m?rked cher

gth first incorrect

2 5 11 cher omit
incorrect

3 5 7 2 other omit
incorrect

4 8 2 other omit
incorrect

S 10 2 other omit
incorrect

6 9 5 other omit
incorrect

7 2 10 cher omit
incorrect

8 4 12 cher omit
incorrect

9 4 shapes | 5 shapes other omit
incorrect
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Stage 2 Coding Sheet - Part A

. Codes
Interview
1 2 3 4 5 9 0
counts counts
1a correctly correctly incorrect incorrect | other other omit
touching not _ names count correct wrong
touching
1b ten more adds 10 incorrect incorrect omit
on fingers add count
1c removes knows subtracts incorrect omit
10 correct
correct correct tens said incorrect
2a counts all omit
knows 50 asones 5 | other
dots
2b correct 50 | 5 omit
2c correct correct incorrect omit
counts on | knows
2d |53 35 8 other omit
wrong
3a correct 47 Incorrect other omit
74 wrong
3b writes 47 | 74 other omit
wrong
incorrect other
3c correct 74 reverse omit
(47) wrong
4 |23 3 other omit
wrong
5a |35 30 other omit
wrong
56 |5 40 other omit
wrong
6a 5 5 line them other omit
all wrong
&b |73 other omit
wrong
6¢c 6,4 other omit
wrong
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Stage 2 Coding Sheet - Part B

. Codes
Interview
1 2 4 9 0
1a correct other other omit
bundle wrong
1b 33 33 6 other omit
28 82 3 wrong
1c |61 511 5 13 other omit
wrong
2a correct other other omit
bundle wrong
55 55 10 other .
2b 1oy 72 9 wrong omit
2c |82 712 28 32 other omit
wrong
3a 34 12 other omit
-12 -34 wrong
30 correct 46 other omit
answer wrong
43 57 12 other omit
-12 -57 wrong
4b correct 69 other omit
answer wrong
5 |47 23 other omit
wrong
6 |86 22 other omit
wrong
7 o9 31 other omit
wrong
s |77 70 17 other omit
wrong
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Stage 2 Coding Sheet - Part C

, Codes
Interview
1 2 3 9 0
1a 2461 gg other wrong omit
1b 12 60 other wrong omit
2 3 11 other wrong omit
3 99 31 other wrong omit
4 77 17 other wrong omit
5 77 35 other wrong omit
6 13 55 other wrong omit
7 10 38 other wrong omit
9-4=5
8 OR ggss;rt other wrong omit
9-5=4
8-2=6
9 OR ggss;rt other wrong omit
8-6=2
10 6+4=10 one part other wrong omit
correct
3+6=9
11 OR 9+3=6 other wrong omit
6+3=9
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Stage 3 Coding Sheet - Part A

Codes
1 3 9 0
1a 4 3 other wrong omit
1b 12 4 other wrong omit
3x5
2 OR 15 3+5 other wrong omit
5x3
5x2
3a OR 10 other wrong omit
2x5
3b §+3+3+3+ 15 3+5 other wrong omit
4a 8 24 3 other wrong omit
4b 15 5x3 8 other wrong omit
5 5 20 4 other wrong omit
6a 12 other wrong omit
2x6
6b OR 0424240 other wrong omit
6x2 +2+2

61



Stage 3 Coding Sheet - Part B

Codes

1 2 3 4 9 0

1a |3 2 5 other omit
wrong

1b 000 correct correct other omit
for 2 for 5 wrong

2ai 53 one other omit
! correct wrong

caii |8 53 other omit
wrong

obi |6 4 one 64 other omit
correct wrong

obii | 10 other omit
wrong

3 [ 7 6 other omit
wrong

4 |OO| |21 6 other omit
wrong

5 9 11 other omit
wrong

6a |6 14 62 other omit
wrong

6b |13 41 other omit
wrong

6c |23 37 57 30 other omit
wrong

7a |12 62 other omit
wrong

signs of

76 |30 making other omit
10s wrong
one set only one other

8 all pairs no o omit
reversal | Pa" wrong

9a |110 11 2 other omit
wrong

ob |224 200204 |8 other omit
wrong

10a | 425 40025 other omit
wrong

10b  |510 50010 other omit
wrong

10c | 206 2006 other omit
wrong
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Stage 3 Coding Sheet - Part C

Codes
1 2 3 4 9 0
1a |8 28 other omit
wrong
1 |10 68 other omit
wrong
1c 64 44 other omit
wrong
ca | 654 568 other omit
wrong
ob | 705 507 other omit
wrong
3a | 756 106 114 other omit
wrong
3b | 359 53 153 other omit
wrong
3¢ 115 357 other omit
wrong
3ad | 722 1190 other omit
wrong
4x3=12 4x3 n
4 OR 12 OR \?vroenr omit
3x4=12 3x 4 9
12x3 =36 12x3 n
5 OR 36 OR \‘;roenr omit
3x12 =36 3x 12 9
13x5 =65 13x5 n
6 OR 65 OR \(z/ro?‘lr omit
5x 13 = 65 5x 13 9
7a correct reverse to other omit
order correct wrong
7b correct reverse to other omit
order correct wrong
8 8028 828 800028 other omit
wrong
9 both top one correct | ticks all other omit
two wrong
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Stage 3 Coding Sheet - Part D

. Codes
Interview
1 2 3 4 9 0

1 all 3 2 correct 1 correct 32 not 23 other omit
wrong

2a 35 30 other omit
wrong

2b 20 30 28 other omit
wrong
correct correct cols | correct cols other

3a 2877 but no addition wron omit
adding wrong 9

correct cols | correct cols .

3b ggggct but no addition i/lgnm cols SJPO? omit
adding wrong 9 9

4 1021 9909 121 other omit
wrong

5a 534 90 110 other omit
wrong

5b 121 27 33 other omit
wrong

5c 88 24 other omit
wrong

6a 142 570 other omit
wrong

6b 27 121 33 other omit
wrong

6c 11 61 other omit
wrong

7a 105 15 other omit
wrong

7b 120 12 other omit
wrong

8 8 8rem5 dpgg other omit
division wrong

9a 11 dpgg other omit
division wrong

o9b 10 does other omit
division wrong

9c 9 dpgg other omit
division wrong

10 35 - 21 35-21.21 |51 35 other omit
-35 wrong
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Stage 4 Coding Sheet - Part A

Codes

1 2 3 4 5 9 0

1a | 1200 1000200 1000, 200 | Other omit
wrong

1b | 341 30041 3041 300 41 | Other omit
wrong

10000, other .

1c | 10840 1000060040 | 1640 600.40 | wrong omit

1d | 57300 57000300 | 570300 | 27000,  jother omit
300 wrong

e |97 907 other omit
wrong

2a | 2ten twenty 20 | 2 other omit
wrong

2b | 2thous. | 2000 2 other omit
wrong

correct other )

3 correct omit
reversed wrong

4 4 3 other omit
wrong

5 |o 6 54 other omit
wrong

6a | 1923 4559 2137 other omit
wrong

6b | 1021 9909 other omit
wrong

7a | 4757 2533 1533 other omit
wrong

7b | 6090 5240 4840 other omit
wrong

sa | 352 122 118 other omit
wrong

sb | 720 434 426 other omit
wrong

sc | o8 102 332 other omit
wrong

sd | 157 243 707 other omit
wrong

9 |s415 Correct 83115 other omit
col no add wrong
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Stage 4 Coding Sheet - Part B

Codes

1 2 3 4 5 9 0

other )

1a 60 10 wrong omit

1 |82 7 other omit
wrong

2 c b a b&c other omit
wrong

3a |15 5 25 other omit
wrong

3b | 360 37 370 other omit
wrong

3c |37 1027 27 270 other omit
wrong

3d |53 143 other omit
wrong

4 |20 205 4 other omit
wrong
350 - 275, her

5 |350-275 275-350 | 75 Wro‘i omit
275 - 350 9

6a 120 2 lines 1 line other omit
correct correct wrong

6b 592 2 lines 1 line other omit
correct correct wrong

7 a4 6 12 other omit
wrong

8 d b a c other omit
wrong

9a correct one piece other omit
correct wrong

9b correct one piece other omit
correct wrong
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Stage 4 Coding Sheet - Extra Numeracy

Question Codes
1 2 3 4 5 0
1a 3372 omit
1b 16848 2 lines | 1line
correct | correct
2a 2510 25inH
2b 3041 341
2c 753 75inT
3a 560 5610
3b 504 56
4a 2 20
4b 20 2
4c 2 20 200
5 44 52 rem
4
6 5 4 rem
22
7a 1 5 25
7b 6 12 72
7c 3 12 24
8a 10 10 rem
7
8b 20 10
8c 21 1
9 20 4

67



Stage 1 Interview Record - Part A

Name of pupil Date

1.

a)

Correct. Child counts / Matches 1 - 1/ Says the two numbers without counting

Child has incorrect answer. Why?

Correct. Reason by counting / matching / 2 numbers.

Child has incorrect answer. Why?

Correct. Reason counting / matching / adding on

Child has incorrect answer. Why?

Correct / Incorrect
Correct / Incorrect
Correct / Incorrect
Correct by counting / matching fingers

Child has incorrect answer. Why?

Child counts correctly / correct without counting / incorrect
Correct / reversal / incorrect number

Child counts correctly / correct without counting / incorrect
Child counts correctly / correct without counting / incorrect
Correct / Incorrect

Correct / Incorrect
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Stage 1 Interview Record - Part B

Name of pupil Date

1.

2. a)
b)
c)

3.

4.

5 a)
b)

6a,b,c,d.

Child counts correctly / incorrectly / says correct number

Child counts correctly / incorrectly OR knows correct number

Second set. Child counts correctly / incorrectly OR knows correct number

Child correctly matches / counts on / knows number needed

8r|3ild incorrectly matches / counts on / knows number needed

Finds correct number by counting / matching / knowing numbers

Finds incorrect number by counting / matching / knowing numbers

Correct counts on from either 6 or 8 / counts all / knows number addition correct
Incorrect counts on from either 6 or 8 / counts all / knows number addition

Does not need to see stamps: Correct counts on from 3 or 5 / counts 8 on fingers /
knows 3 + 5

Needs to see stamps: Correct counts all / counts on from 3 or 5/ knows 3 + 5

Writes 3+5=8(or5+3=8)/3+ 5 0r5 + 3 no equals sign/ 3, 5 no operation sign

5+3 6+4 3+2 7+1

Counts all

Counts on
from largest

Counts on
from
smallest

Knows
number
bond
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Stage 2 Interview Record - Part A

Name of pupil Date

1.

4.-6.

a) Child counts correctly touching / not touching / incorrect name order / incorrect count

b) Child counts 10 more on fingers / adds 10 to total / incorrect adding / incorrect finger count

c) Removes 10 buttons and counts correctly / knows number / subtracts correctly / incorrect

a) Child says

b) Child writes

c) Child says

d) Child writes

a) Child collects

b) Child writes

c) Child knows

on test paper.
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Interview Sheet 1A

Paper 1a
Teacher Interviews child 1-1
Records as follows:

Name of child School
Age Date Boy/Girl
1a Does child count? Using fingers?

1b Give reason child gives.

1c Method child uses to make sets same size.
2a
GO SAYS ..o
3 y
Number of fiNgers SNOWN ..o
GO SAY S ..o e
8 y
Number of bottle tOPS GIVEN ...




Interview Sheet 1A continued

3a

3b

3c

3d

4a

4b

4c

Child says ....
5 beads, counts by touching each.

20 beads, names in COrrect Order UP t0 ..........ccooiiiiiiiiiii e

Touches each bead as named
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Interview Sheet 1B

Paper 1b

Teacher Interviews child 1-1
Records as follows:

Name of child School
Age Date Boy/Girl
1. Child counts touching/moving objects.
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Interview Sheet 1B continued

4, Child counts each first.

5a Child finds total from knowing number bonds.

Child counts ‘stamps.

(i) from 1 (i) from 3 (iii) from 5
5b Child writes.
6a Child counts @ll (543) ...ooveiiiiii e

COUNES ON 1O O e
KOS B 3 L e
Uses fingers

F N 1S3 = PR

6b,c,d

6+4 3+2 7+1

Counts all

Counts on from largest

Counts on from smallest

Knows number bond

Uses figures

Answer




Interview Sheet 2A

Paper 2a
Teacher Interviews child 1-1
Records as follows:

Name of child School
Age Date Boy/Girl
1a Child counts touching/moving buttons? Number of buttons

1b 107 0] [ == L= PP
Method used.
1c CRld SAYS ..ot e

Method used.

2a (Showing cards) Child says.
2b Child writes.
2c Child says.

2d Child writes.



Interview Sheet 2A continued

3a Child collects cards showing:

. Ch”d Wmes ..............................................................................................................................

) Ch”d . c O”ec ts Cards ( l Ist) ...........................................................................................................
Correct/mc Orr e Ct ......................................................................................................................
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